Similar Triangle Practice:

1. Determine whether the triangles are similar by AA~,
9AS~, or not similar.
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3. Determine whether the triangles are similar by AA~,
§5S~, SAS~, or not similar.
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5. Determine whether the triangles are similar by AA-,

~, or not similar.
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2. Determine whether the triangles are similar by AA~,
55~ SAS~, qrot simifar._
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4, Determine whether the triangles are similar by AA~,
SSS not similar.

6. Determine whether the triangles are similar by AA~,
$SS~, SAS~, w
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7. Determipe whether the triangles are similar by AA~, 8. Determine whether the triangles are similar by AA~,

sss- not similar. r not similar. Select all that applies.
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10. T 11. Find the value of X. o
_If_A(“DG ~ AEDF, find the value of x. If ASTU ~ APLM, find the value of x.
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14. Use the information in the diagram to determine 15. Determine whethepthe-triangles are similar by
the height of the tree. AA~, S55~, SAS~, or
D
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